RETAN #HE BEHOMAER o1

RD DX (SH10F, Afk20%>, BH40F, CH#14720%)
(1) X 6+5=17 (2)  6x —8=22

(3) (17+ )><2:5O (4)  50—4x =22

RD )X L UIRDEIEROEICE X (SH 1270, Afk25F, Bi50FD, C#k14740F))
(1) ~6+5=17 (2) 24—+ —2=4
(3) 50— +~5=41 4) 56+<11— >—8
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(3) (13 —

(3)

K. (SH10F, A#20%, BREA0OFS, C#14720% )

X2+8=206

)x7:42

(2)  9x

—5=22

(4)  32-7x

=18

I X T UIRGEII ORI L. (Sik12#, Afk25%, BHs0#, Cilk14340%)

+8+9=17

7 —

(2) 60~

—9=23
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R#ETFAL #H BHOMAER 01 SEESH

RD DX (SH10F, Afk20%>, BH40F, CH#14720%)
(1) X 6+5=17 (2)  6x —8=22
17 -5 =12 22 +8 = 30

i

12-6=2 & 30=6=5 &Z

50 (4) 50—4x =22

(3) (17+ ) X 2

50 =2 =25 50 — 22 = 28
25 —-17=8 & Wr4=97 BZ

]

RD )X L UIRDEIEROEICE X (SH 1270, Afk25F, Bi50FD, C#k14740F))
(1) ~6+5=17 (2) 24—+ —2=4

17 —5=12 44+2=6

12x6=72 -&Z M+6=4 BZ
(3) 50— +~5=41 4) 56+<11— )—8

50 — 41 = 56 ~8 =17

9x5=45 &Z 1M-7=4 &z
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RD K. (SH10F, A#20%, BREA0OFS, C#14720% )

(1) X 2+8=26 (2) 9x —5=22
2 — 8 = 18 22 4+5=27
18+2=9 &% 27+-9=3 %X

(3) (13— )><7:42 4) 32—-7x =18

2+7=6 3218 =14

13—6=7 -&Z U4-7=2 --&Z

RD I X T UIRGEII ORI L. (Sik12#, Afk25%, BHs0#, Cilk14340%)
(1) ~8+49=17 (2) 60+ —9=3

17—9 = 3+9=12

8 x 8 = 64 £z 60~ 12 = Zx
(3) 75— +92=149 (4) 72+<14— ):9

75 — 49 = 26 72+9=28

26x2=52 &Z 14-8=6 X
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